I Wybierz prawidłowy czasownik modalny. 
1. Sorry, I’m late. I had to go/may go to the library.

2. My brother could walk/might walk before he started talking.

3. You’ve worked very hard. You must be/ could be very tired.

4. He didn’t have to wait/ hadn’t to wait long for the bus.

5. Don’t wait for me. I could be/had to be late.

6. This can’t be/mustn’t be your bag. It hasn’t got your name on it.

7. Helen mustn’t do/couldn’t do her homework because she was ill.

8. This bus had to go/might go to the centre. Shall I ask the driver?

9.  Sam dropped  three glasses but was able to catch/might catch one.

10. The weather forecast says it may rain/had to rain tomorrow.

11. That was a long walk! You can’t be/ must be tired.

12. Sorry I was away yesterday. I had to go/ hadn’t to go to the hospital.

II Wstaw tylko jedno słowo.

1. Will you be……………………….to help me?

2. Do you ………………………..to go now?

3. Peter…………………………ride a bike when he was six years old.

4. Mary……………………..be in her room. The light is on.

5. Students………………………leave their bicycles near this door. It’s forbidden.

6. We ………………………to try very hard, but we succeeded in the end.

7. Kate is only six, but she…………………………….swim very well.

8. Everyone………………………be here at 6 p.m. Don’t be late!

9. I think you……………………………..go to the doctor’s.

10. Alan …………………………..be in the garden. He went to the supermarket.

11. What do you think I……………………………do?

12. I’m sorry I’m late but I……………………………….go out.

III Wybierz odpowiedni czasownik modalny.

1. Take an umbrella. It…………………………..later on.

a) might rain

b) must rain

2. Jim always goes on holiday to the same place. He……………………….it there!

a) might like

b) must like

3. Paula isn’t sure about the party. She……………………………

a) must not come

b) may not come

4. Let’s ask Tim. He………………………………….the answer.

a) can’t know

b) may know

5. I suppose that aliens……………………………the Earth. Anything is possible!

a) can’t visit

b) could visit

6. Hello, you……………………George. I’ve heard a lot about you.

a) must be

b) mustn’t be

7. That ……………..Helen’s bike. Hers is green and bigger than that.

a) must be

b) can’t be

8. I’ll try to finish, but I……………………….enough time.

a) can’t have

b) might not have

9. He………………………………a tourist. He has got a map.

a) must be

b) can’t be

10. I think your watch…………………………..wrong. It’s 11, not 10  a.m.

a) must be

b) mustn’t be

11. Watch out! You…………………..!

a) might fall off

b) must fall off

12. This……………………………the right house. That one is bigger.

a) must be

b) can’t be

IV  Napisz drugie zdanie z podobnym znaczeniem do pierwszego. Użyj podanego słowa.

1. I’m sure this isn’t right.

CAN’T…………………………………………………………….

2. It wasn’t necessary for me to go to school yesterday.

HAVE TO………………………………………………………………..

3. Tina knew how to play the piano at an early age.

COULD……………………………………………………………………..

4. Perhaps I will see you tomorrow.

MAY……………………………………………………………………………

5. Harry managed to repair the bike.

ABLE……………………………………………………………………………

6. It was necessary for Bill to return his library book.

HAD……………………………………………………………………………..

7. It’s possible that Carol will phone tonight.

MIGHT………………………………………………………………………….

8. It’s impossible for me to see you tomorrow.

CAN’T……………………………………………………………………………

9. It’s not a good idea to eat lots of sweets.

SHOULDN’T……………………………………………………………………

10. It’s not necessary for you to pay now.

DON’T……………………………………………………………………………

11. Parking here is forbidden.

MUSTN’T…………………………………………………………………….

12. It’s necessary for you to work harder.

SHOULD………………………………………………………………………….

